Fill out the poll everywhere for

Try a few of your own Activity Credit
Go to pollev.com/cse311 and login

Decide whether each of these relations are with your UW identity
Reflexive, symmetric, antisymmetric, and Slilieile-c 1N 7 b
transitive.
= on fP('U) Symmetry: for all a,b € S, [(a,b) € R - (b,a) € R]
= 0N Z Antisymmetry: for all a,b € S, [(a,b) € RAa # b — (b,a) & R
>on R Transitivity: for all @, b, ¢ € S, [(a,b) € R A (b,c) € R — (a,c) € R]
|on Z* Reflexivity: for all a € S, [(a, ) € R]
| on Z

= (mod 3) on Z



